


ТР-304 
 
 

 

P
os
.  

Item 
No. 

 
Description 

Q
-ty
 

1 ТР-304-01 Left handle 1 

2 ТР-304-02 Lower frame 1 

3 ТР-304-03 Upper frame 1 

4 ТР-304-04 Handle 1 

5 ТР-304-05 Axle 1 

6 ТР-304-06 Bushing 1 

8 ТР-304-08 Bushing 1 

9 ТР-304-09 Flange 2 

10 ТР-304-10 Nut 2 

11 ТР-304-11 Box 1 

12 ТР-304-12 Screw M8x16.88.05 GOST 11738-84 1 

13 ТР-304-13 Screw M8x30.88.05 GOST 11738-84 2 

14 ТР-304-14 Screw M8x35.88.05 GOST 11738-84 4 

15 ТР-304-15 Screw M8x40.88.05 GOST 11738-84 2 

16 ТР-304-16 Screw M12x30.88.05 GOST 11738-84 1 

17 ТР-304-17 Nut M8.8.05 GOST 5915 6 

18 ТР-304-18 Washer 8.65Г.05 GOST 6402-70 9 

19 ТР-304-19 Washer 12.65Г.05 GOST 6402-70 1 

20 ТР-304-20 Washer 12.01.05 GOST 11371 1 

21 ТР-304-21 Washer 18.01.05 GOST 11371 1 

22 ТР-304-22 Washer 4 

23 ТР-304-23 Washer 15.65Г.05 GOST 11648-75 1 

24 ТР-304-24 Cotter 5x28.016 GOST 397-97 2 

25 ТР-304-25 Rubber handle d=22 2 

26 ТР-304-26 SR 0806 Wheel 2 

27 ТР-304-27 Washer 36.01.05 GOST 11371-78 1 

 


